GED Social Studies

1. -- Exhibit
Athens and Sparta
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Source: Goldberg-DuPre, Brief Review [n Global History and Geography (Columbus, Chio: Prentice Hall, 2000], 440.

-- Exhibit --
Independent Greek city-states existed between 1750 B.C. and 133 B.C.Two of the most powerful were

Athens and Sparta.
Based on the diagram, how did life in the city-state of Sparta differ from life in Athens?

A. Sparta did not have a spoken language.
B. Sparta had more trade with its neighbors.
C. Sparta had less military training.

D. Sparta's citizens were more religious.

E. Sparta had more control over its citizens' lives.

Answer(s): E




2. Exhibit:

THE RADIO-TV ADDRESS OF
PRESIDENT KENNEDY
TO THE NATION

From The White House October 22, 1962
“Good evening, my fellow citizens:

"This government, as promised, has
maintained the closest surveilance of the
Soviet military build-up on the island of Cuba.
Within the past week, unmistakable evidence
has established the fact that a series of
offensive missile sites is now in preparation on
that imprisoned island. The purpose of these
bases can be none other than to provide a
nuclear strike capability against the Western
Hemisphere.

This urgent transformation of Cuba into an
important strategic base—by the presence of
these large, long-range, and clearly offensive
weapons. . . constitutes an explicit threat to the
peace and security of all the Americas. . ."

To which serious global consequence did this incident in 1962 threaten to lead?

A. environmental pollution of the world's oceans

B. anti-free trade activities by young protestors

C. a worldwide economic depression

D. war between the world's two superpowers

E. disbanding of the United Nations

Answer(s): D

3. After World War Il, in 1947, the United States proposed a plan to help European nations.U.S. Secretary of
State George Marshall describes below why this plan was necessary.

"Europe's requirements for the next three or four years of foreign food and other essential products. . . are so
much greater than her present ability to pay that she must have additional help or face economic, social, and
political deterioration . . . the United States should do whatever it is able to do to assist in the return of
normal economic health in the world, without which there can be no political stability and no assured
peace.Our policy is directed not against any country or doctrine but against hunger, poverty, desperation,
and chaos.lts purpose should be the revival of a working economy in the world so as to permit the
emergence of a political and social condition in which free institutions can exist."

Excerpted from "European Recovery Program: Remarks by the Secretary of State at Harvard University,
June 5, 1947, " U.S. Department of State, Office of Public Affairs, In Quest of Peace and Security,
Washington Government Printing Office, 1951.

Why did Secretary of State Marshall propose the above plan in 19477

A. by withholding aid, the United States would defeat the Soviet Union

B. fascism and communism were good systems of governments

C. peace could occur only in a world of strong economies and well-fed people



D. the United States should rebuild Europe so that Europe could become a part of the United States

E. the Europeans would vote to locate the United Nations headquarters in the United States

Answer(s): C

4. Based on the viewpoint, which statement about family life is supported?

A. Cultures should not permit a person to remarry.

B. Having an unsatisfying family life is better than being alone.

C. Married people have fewer conflicts than unmarried people.

D. Successful families must cooperate for mutual benefits.

E. Family life is less important today than it was a century ago.

Answer(s): D

5. Budget deficits force U.S. and Canadian leaders to make hard choices.In each country, a large portion of
the budget pays interest on the national debt.With remaining tax dollars, national lawmakers must decide
how much money to spend on programs such as defense, health care, education, transportation, and
environmental cleanup. Each of those programs has its own strong supporters.

Based on the information above, if legislators wished to get re-elected, which of the following should they
do?

A. vote to increase defense spending

B. vote to increase the national debt

C. poll voters and groups about their views

D. cross party lines to vote with the opposition

E. vote to eliminate most social programs

Answer(s): C

6. "Resolved, that these United Colonies are, and of right ought to be, free and independent States; that they
are absolved from all allegiance to the British Crown, and that all political connection between them and the
State of Great Britain is, and ought to be, totally dissolved."

Richard Henry Lee, 1776

Which of the following statements reflects Lee's proposal to the Continental Congress in 17767

A. Go to war with all of Europe.



B. Form a stronger union with Great Britain.

C. Break away from Great Britain to form independent states.

D. Promise their loyalty to the king of England.

E. Be patient with the British government.

Answer(s): C

7.1n 1901, President Theodore Roosevelt stated, "We demand that big business give people a square [fair
and honest] deal." Roosevelt later became known as a "trust-buster" [one who seeks to break up large
business combinations].

Which action by the U.S. government best reflects Roosevelt's 1901 statement?

A. The government grants secret trading privileges to a foreign nation.

B. The government allows tax breaks to a computer manufacturer that supplies free computers to a public school.
C. The government sues a utility company that creates a monopoly.

D. The Federal Reserve Bank raises interest rates by 0.5%.

E. The government awards an oil company the right to drill for oil on federal lands.

Answer(s): C

8. The map above shows how the 50 U.S. states voted on the Equal Rights Amendment (ERA).
Vote on the Equal Right Amendment (ERA)

Thirty-eight states needed to vote for ratification of the
ERA by June 30, 1985, but only thirty-five voted to ratify.

voted toratify  did not ratify

(The ERA proposed to guarantee equal rights under the law to all persons, regardless of gender.)
Based on the map, which statement about support for the ERA in 1985 is true?



A. All of the original thirteen colonies opposed the ER

B. Support for the ERA was limited to states west of the Mississippi.

C. The states of the Pacific Northwest were opposed to ratification of the ERA.

D. Opposition to the ERA was strong in the states in the Southeast.

E. No regional patterns existed in support of the ERA.

Answer(s): D

9. Exhibit:
Value of the U.S. Dollars, 1900-2000

$1.00

Value in Terms of 1900
Spending Power

Source: U.S. Department of Commerce
Which statement about the value of the U.S. dollar is best supported by the graph above?

A. bought more in 1920 than it did in 1930
B. bought twice as much in 1935 as it did in 1955

C. had no value in 2000

D. became more valuable over the past thirty years

E. maintained its value

Answer(s): B

10. In order to succeed in business, a company must make a profit.
Which business policy is most likely to make an immediate profit for a bank?

A. charges no fee for use of its automatic teller machines
B. keeps deposits in cash rather than investing them

C. gives away gifts to consumers



D. pays a high interest rate on savings accounts

E. charges consumers a high interest rate for loans

Answer(s): E

11. The button at the left was worn by a demonstrator in the United States in the 1960s.

FOR

Which movement was the demonstrator most likely supporting?

A. the anti-apartheid movement

B. the anti-Vietnam war movement

C. the women's liberation movement

D. the civil rights movement

E. the environmental movement

Answer(s): D

12. -- Exhibit --

At the end of the Civil War, at a time period called Reconstruction, the U.S. government planned to rebuild
and re-establish the states that had been a part of the Confederacy. Supporting the former slaves as free
citizens (freedmen) was one important goal of the federal government. Radical Republicans, mostly
Northerners, pushed for federal legislation that granted the vote to freedmen. Gradually, by the 1880s,
however, many states enforced policies that restricted the freedmen's right to vote. In that instance,
Reconstruction has been evaluated as a failure.



Historical Restrictions on Voters

Poll tax: a tax that required adults to pay
a fee in order to be eligible to vote in an
election

Literacy Test: a test that required adults
to prove that they could read in order to
be eligible to vote in an election

Terror: criminal acts of violence committed
to intimidate adults from voting in elections

-- Exhibit --
Based on the information, what happened during Reconstruction to the freedmen's right to vote?

A. protected by the Reconstruction states

B. protected by the federal government

C. restricted over time

D. extended to freedwomen

E. unimportant to freedmen

Answer(s): C

13. Exhibit:

Political and economic problems in many
developing and politically unstable nations have
driven people to seek new homes or temparary
shelter in the United States and Canada.
Populated by immigrants, both the United States
and Canada are sympathetic to the conditions of
these refugees. However, because of the many
thousands who seek asylum [shelter] every year,
the two countries have had to limit the number
of refugees admitted. At present, priority goes to
those whao have suffered political persecution at
home; consequently, many economic refugees are
turned away.

Once they are admitted to their new homes,
many refugees face the problem of adapting
to a new language and culture. The Canadian
Multiculturalism Act of 1988 has affirmed “the
freedom of all members of Canadian society to
preserve and share their cultural heritages.” U.S.
laws protect the civil rights of all U.S. residents,
regardless of national origin. However, many
refugees meet hostility from neighbors who resent
their cultural differences.

According to the information, the Canadian government is legally committed to which of the following?

A. protecting the rights of refugees to practice their religion

B. finding jobs for refugees

C. providing guaranteed income to refugees



D. funding refugees who want to run for political office

E. granting professional licenses to refugees

Answer(s): A

14. According to the graph at the left, how did consumers in the Netherlands compare with consumers from
other countries?

Have you purchased goods
[l B i e
Percent of respondents who said yes:

Netherlands J
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NOTE: The pell is based on telephone interviews and
guestionnaire answers from 2045 Internet users in
12 countries. It was conducted in 1998 by Market
and Opinion Research International (MORI) or local
polling groups.

Source: Washingfon Post, 1999,

A. had greater access to the Internet

B. were more likely to learn computer technology

C. had less access to shopping malls

D. owned more computers

E. shopped more on the Internet

Answer(s): E




15. -- Exhibit
Major Intercontinental Tourism Flows (millions of people), 1997

Source: Reprinted with permission from UNESCO Courier, July/August 1999, 26-27.

-- Exhibit --
Based on the map, which statement is a hypothesis rather than a fact about global tourism in 19977

A. Asians toured in Europe and the Americas.

B. Europeans toured in Africa.

C. Millions of people visited foreign countries.

D. Middle Easterners toured in Europe.

E. Tourism increased goodwill among countries.

Answer(s): E

16. Energy-efficient products help users save money through decreased energy consumption and help
conserve resources. Energy efficiency is a way to save the planet.Scientists warn that people are turning the
globe into a hothouse by burning oil and other fuels that emit carbon dioxide, a gas that insulates the
atmosphere.

According to this information, why, in addition to trying to save money, do many people buy energy-efficient
products?



A. to promote convenience

B. to accomplish immediate goals

C. to preserve life on Earth

D. to improve products

E. to cut costs

Answer(s): C

17. If the trends concerning women and athletics continue as the author describes, which occupational field
may provide more opportunities for women in the future?

A. nursing

B. education

C. clerical

D. military

E. sales

Answer(s): D

18. Which statement best summarizes the work of the United Nations in recent years?

A. operating with fewer member countries

B. shrinking in its responsibilities

C. favoring some countries over others

D. rejecting humanitarian efforts

E. expanding in its scope

Answer(s): E




19. -- Exhibit

e
T

LOOKING BACKWARD.
THEY WOULD CLOSE TO THE NEW-COMER THE BRIDGE THAT CARRIED THEM
AND THEIR FATHERS OVER.

LOOKING BACKWARD

THEY WOULD CLOSE TO THE NEW COMER THE BRIDGE THAT CARRIED THEM

AND THEIR FATHERS OVER.

Source: "Looking Backward." Joseph Keppler, colored proof for Puck, 11 January 1893.

Reprinted courtesy of the Print Collection, Miriam and Irad. Wallach Division of Arts, Prints, and
Photographs,

The New York Public Library, Astor, Lenox and Tilden Foundation.

-- Exhibit --

According to the evidence in the cartoon, what did some wealthy and middle-class people in the United
States think about immigrants in the 1880s and 1890s?

A. that U.S. law should not enforce racial quotas

B. that immigrants who practiced different religions improved the U.S. economy
C. that new immigrants were a threat to them

D. that new immigrants should be able to speak English

E. that unskilled laborers would be good citizens

Answer(s): C

20. Based on the tone and content of his speech, what most likely was the political role that Pericles held in
Athens?

A. He was a leader with little regard for public order and welfare in Athens.



B. He was a champion of the divine right of kings to rule.

C. He was the leading judge in the Athenian court system.

D. He was a respected leader among the Athenian people.

E. He was a supporter of foreign military leaders ruling Athens.

Answer(s): D




